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1. 4x*—2x—5=0 :ﬂ%ﬁéaﬁz%r’

2. (A)X® =x(&f) 5 (B)VA+x2 =24+ x—TT 442+ 4+ax+x¥(5E) ;
O VX2 =) ; D)8—x3 =2—x——Z ;8 x3£8—12x+6x2—x3(4E)
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4. BCHEEEBE =EX,0)
- . X+2 y X y
ABHENE D =D , —)=(—+1, =
HhE Ry ( 5 2) (2 2)
— . X y
ACH &Ry F :>F(? : 7)
E=(—=, —2%)> DF=(—1,0
( 5 2) ( )
DE - DF=0 :,»%+o:o —x=0 =A(Q,Y) — $%(0)
xi3y=6 X 6 0 = IR
yl0 2 B
x| -2 0
X+y=—4 y| 0 —4 x+3y=6
BRAE
2x+y=—4
2 2 2
6. 7 cosf = sio-r 1 = 6 =120
5 2x3x5 2
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11.

0 1
-1 10 1 —
C=AB= 1 0|=
1 0O 0 1
11
CZZ 1 - 1 _1 _ 1 _2 _ dll dlz
0O 11||0 1 0 1 d,; dy
d12:_2
T .. TT\q2 T .. T \14
2 (cos—+is9n—)]° x[2(cos—+isih—
K2yt D2(cos tisin ) x[2(cos - isin )]
3
z 2(cos ™ +isin")3
[2( 3 3)]
2 SR RN R AN DT T Ty g T T
_ W2 (os( - ) +isinC - N[24(cos( ) sInCO)]
3 SR e S e
2(cos(3+3+3)+|sm(3+3+3))

[2(cos%+ is n%)] [16(cos§7z +is néiz)]

8(cosz +isinr)
T 2 R 4 2
=4cos(—+—r—rm)FisSn(—+ =1 —7
[S(2 3 ) (2 3 )]

=22(cos% +i sin%)

AB=(1,2,3)
AC=(2,3,1)

= ABxAC=(-7,5, —1) =HEEMEHEN=(7, —5,1)
N EMEAENL=01,k, —2) =>NHLln, =m0 - n=0

=7-5%—2=0 =k=1

bl

B x=1>y=1>z=—1KAHEMH btc—a=—4---(2)
c+a—b=6 -.---. (3)
D)+©2)+@®) : atb+c=0----+(4)
4-0 ..., WO . _, 06 ..
2 2 2

By _22+6 =2 X< —2§Zx26;2>x—2§—40rx—224

= X—2/24—253x—6|= 12

=—3 =—Da=2

A
— |—3x+6|=12 BIAX+6|=B #H[E = {8—12 —2A+B=6
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HE=M - R b+2i Bl —1+a RyItiifesi
b=—1
:{ =>=HkE—-2> —14+2 > —1—2i
a=—2
x=—14+2 =x+1=+42—FT x2iox11=—4
=X2+2x+5=0 .".f(X)=(X+2)(x*+2x+5)
= f(x) =x>+4x*+9x+ 10
2018 4 ~2023 4 = 54F » ERMFEAEFEr = 50(1+r)°=60
2000
—— =8/NIF =8—-05—6.5=1/
20 INEF NiS;
T R 1/ NKFRE
W s(t)= j v(t)dt = j (27t24-52t+1262)dt =93+ 261>+ 1262t +c X s(0)=c=600
= (1) =93+ 261241262t + 600 = (1)=9+ 26+ 1262+ 600= 1897
2000—1897=103
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2 - - 2 o
fiat— lim ANH81—3 —Jnt+ns 6n—8 s
e In218n—344/n%4+2n4+5 "= n?48n—3++/n%+2n+5 T
62 6
: n _ _
i 8 3 2 5 L
N—o0
\/1+—2+\/1++2 *
n n n n

B STHEE X2+ Y2+ dx+ey+f=0
A1, 2R A 1+4+d+2e+f=0------(1)
B2, —3)fRA 4+9+2d—3e+f=0---(2)
C2, NRA 4+49+2d+7e+f=0----(3)
(3)—(2) : 40+10e=0 =e=—4
AL =5+d—8+f=0 =d=-28
(2) =13+2d+12+f=0 =f=31
=x*+y’—28x—4y+31=0 D(a, —10)fLA &+100—28a+40+31=0
=ad—28a+171=0 = (a—19)(a—9=0 =—=a=1959
/NB] 30000+ + 3000=80000 =>3000x=50000 =>x=16.67

/NEZ £ 30000 (14 ——y'=80000 = 1.03'= 5 I ,]0g1.08'=log—
100 3 log 3

=yxlogl.03=log2’—log3 = 0.0128y=0.903—0.4771=0.4259
~0.4259

00128
X—y=16.67—33.27= —17

=33.27
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Q)
2+3—-2=3

= OC = /3 +(5V/3)? =+/84 =221

19. logE=11.84+15M = E=10"%"*M=10"%x (109" >

Hy=d a>1 =>EFEhE HE# ELKRO

20. FIHLA - BEIA 1 5X2X2X4=80
FHRHEA > HHLA - 5X2X2X4=80

= 80-+80=160 "
21, fAEEIEHPA + PB=8=2a —a=4
N 2c=4 =c=2>8=0+F =16=b*+4 =b=2y3 A

i AB 558k b=24/3

A

2 ‘mﬁzsc . BD=5 CD =53
pZ60° 10 d D
A
10,3
= AD = /(10v/3)2+(5v3)2 =+/375 =54/15
D C
5.3
23, ()= —— —138(1, O8I m=F ()= —— —1= =
2Jx 21 2

FAUTAREEE > HIEE g()LL(L, 0) Y] EEAUERIE m=g(1)=2("." mxXm'=—1)
g (x)=3ax’+b = g ()=3a+b=2 _ a1
NYJEL1,0 = g)=a+b=0

=ab=-1



24. f'(X)=3x*+6x—72=3(x*+2x—24)=3(x+6)(x—4) =0 X fE—6 , 4 FEEIR(H
x=—6IK » HHEMAIE f(—6)] —:(D)
x=41ks - HEHR/ME f(4) }
(—6,f(—6))

“4,f4)
25. f(x)=sinx HEHEE 27

f(x) = 40sin(ax+ %)Ho

a 2





